BASIS

The public Int=r~at score t caloutat d &0 the sum of the following

1 a manber of poinis “gual to the average number of employe:s of the close corporalion during

the financial year-end

e

one poiat jor every R 1 millios (or portion thereoi) In third parly labitities of the cime

corporation at the financiel ysar and;

3 one point for every R 1 millson {0 portion tharzof) in turnover of the close corporation during
the financial year; and

4. one point for every individuat who, at the end of the financial yezar, iz known by ihe close

corporation Lo direclly or indirectly have ¢ beneficial interast in the close Corporation.
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5 TOTAL: i%% 31



